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1. In this problem y = z sin(z).
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2. Find the derivative of y = tan (3z% + z).
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4. Information about functions f(z), g(z) and their derivatives is given in the table helow.

If h(z) = f(g(x)}, find k'(3). ,&f(x) = {f(a(x))sf(x)
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1. In this problem y = ze
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. Find the derivative of y = sm :t: =S \V\ ( X

I
B i)t

I
CoS (ﬁ)l V%

; (c/fharrn VW& )

3. Find the derivative of y = tan (3:1:3 + :1:)
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4. Information about functions f(z), g(z) and their derivatives is given in the table below.

If h(z) = f(g(z)), find h'(4). % /(9( ) B 7[‘/(g (76 )3 fx)
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1. In this problemy=%. = ZZ—Z_
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2. Find the derivative of y = cos (ze®).
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3. Find the derivative of y = cot (32” + z).
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4. Information about functions f(z), g(z) and their derivatives is given in the table below.

If h(z) = f(g(z)), find #(0). L) = f’(g «)) 9 W (chain rle
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1. In this problem y = z* + o = K+ 7(
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2. Find the derivative of y = sin (:1:23").
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4. Information about functions f(z), g{x) and their derlvatlves is glven in the table below.
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